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24k (n=661) 50.5 12.0 7.3 26.2 20.4 1.1 8.6 26.8 15.1 3.0
—RB/INTEIE - P E (EE) (n=32) 56.3 0.0 0.0 3.1 15.6 0.0 21.9 46.9 9.4 0.0
— R /NFEIE - BEFIE (Fr—208) (n=21) 47.6 9.5 14.3 19.0 23.8 0.0 9.5 28.6 33.3 0.0
REEME (n=6) 33.3 0.0 16.7 16.7 66.7 16.7 0.0 33.3 33.3 0.0
BHEE (n=62) 12.9 1.6 11.3 12.9 35.5 1.6 9.7 74.2 4.8 0.0
BER—r8— (h=170) 54.7 16.5 11.2 39.4 24.7 1.2 10.0 18.8 15.3 5.3
B B R—/3— (h=305) 65.9 15.7 5.9 295 17.4 0.0 75 19.0 18.7 36
FSYJRMFIFI— (n=0) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
aVEZIVRZRRZ (100 ayFETD) (n=1) 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
ZDM(EFRICHFESINLENED) (h=15) 0.0 0.0 0.0 0.0 6.7 6.7 6.7 60.0 6.7 0.0
REOTLVELY (n=7) 14.3 0.0 0.0 0.0 0.0 0.0 0.0 28.6 14.3 0.0
FIFALALY (n=26) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
A B—3 vk BIEIRFE (n=16) 0.0 0.0 0.0 125 18.8 12.5 6.3 43.8 0.0 0.0
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—RR/INTEIE - B E (EE) (n=32) 0.0 0.0 3.1 0.0 0.0 3.1 18.8 0.0 3.1
— R /NFEIE - BEFIE (Fr—208) (n=21) 48 4.8 4.8 0.0 0.0 4.8 0.0 0.0 0.0
REIEME (n=6) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
BEE (n=62) 6.5 8.1 1.6 1.6 0.0 8.1 1.6 0.0 0.0
WA RX—78— (n=170) 1.8 8.2 1.8 0.6 0.0 0.6 0.6 0.0 1.8
B R R—/3— (h=305) 3.0 11.8 1.3 0.7 0.0 0.3 0.3 0.0 0.7
FSYYIRMFIFI— (n=0) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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RES>TLELY (n=15) 13.3 6.7 0.0 6.7 6.7 6.7 6.7 26.7 6.7 0.0
FIFALALY (n=31) 3.2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
A B—3 vk BIEIRFE (n=16) 6.3 0.0 0.0 125 125 12.5 125 31.3 0.0 0.0
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— R /NFEIE - BEFIE (Fr—208) (n=10) 0.0 0.0 0.0 10.0 0.0 0.0 0.0 0.0 0.0
REEME (n=4) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
BEE (n=81) 6.2 4.9 1.2 1.2 0.0 7.4 1.2 0.0 0.0
BB RX—78— (n=159) 1.9 9.4 1.3 0.6 0.6 0.0 0.0 0.0 1.9
B RRA—/\— (h=297) 3.0 10.8 1.3 0.7 0.0 0.0 1.0 0.0 0.3
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A B—3 vk BIEIRFE (n=16) 0.0 6.3 0.0 62.5 0.0 6.3 0.0 0.0 0.0
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B HA—/3— (n=324) 67.3 13.6 6.8 27.8 15.4 0.9 7.1 14.8 17.6 3.1
FSvy4 RARZIFI— (n=1) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0] 100.0 0.0
OVEZIVRARARZ (100 a3y FELD) (n=13) 76.9 1.1 0.0 0.0 0.0 7.1 385 1.1 1.1 0.0
ZDfth (EFRIZHEFEINENBD) (n=15) 0.0 0.0 0.0 0.0 133 6.7 6.7 46.7 133 0.0
RFEOTULVELY (n=13) 23.1 7.7 0.0 0.0 0.0 0.0 1.1 30.8 23.1 0.0
FIALALY (n=22) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
A 3=y BIERRTE (n=17) 0.0 5.9 0.0 11.8 11.8 5.9 5.9 52.9 0.0 0.0
7 | HK + i3] 57 | TIE | #15 | &% -
RLU | 24 | ) 7| F0 ) ‘B 12
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— A% /INTEIE - P S (B E) (n=43) 0.0 23 0.0 4.7 0.0 9.3 30.2 0.0 0.0
—RE/NTEIE - EFE (Fr—08) (n=17) 5.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AEEME (n=2) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
BEE (n=20) 0.0 15.0 0.0 0.0 0.0 0.0 5.0 0.0 0.0
BER—/3— (n=166) 1.8 8.4 0.0 0.6 0.0 0.0 0.0 0.0 1.2
BHER—/3— (n=324) 3.1 10.2 0.6 0.9 0.0 0.0 0.3 0.0 0.6
FSyS REZIFI— (n=1) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
aVEZIVRZXRFZ(100HavFE&T) (n=13) 1.1 7.1 0.0 0.0 0.0 0.0 0.0 0.0 7.1
ZOfh (EFRICHEBBINENED) (n=15) 0.0 0.0 0.0 66.7 0.0 0.0 0.0 0.0 0.0
REOTLVELY (n=13) 1.1 0.0 0.0 7.7 0.0 0.0 0.0 0.0 1.1
FIALALY (n=22) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 45 45
A B3—3yb - BIEIRTE (n=17) 0.0 5.9 0.0 76.5 0.0 5.9 0.0 0.0 0.0
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BxR | 28 B |(NERl HF * & LY & 4] 5]
T A E S B |Tthia| & 1) Ly =1 & &
ni i3 % (3L #E ) o » . ) )
&R & . e & + El i3 & &
(AR M EE |ZL\Y z y[% Ly E 124 124
N & & |5TH %) [ = . mn mn
X < 5 SN Z & T = 7 ke
& 3 mn *— PN n B & (A )
£ Fl F:>) 1] 2z ) Z % T
) T %) AT = %) % n =3
F 5) TIc T = %
%1k (n=656) 48.2 10.1 5.3 16.6 23.0 12.8 4.9 23.0 12.3 1.4
— R /INFERE - P E () (n=130) 36.9 0.8 0.8 038 254 31.5 5.4 415 0.0 0.0
— R /NFEIE - FEPIIE (F—2JE) (n=58) 36.2 0.0 34 12.1 414 29.3 6.9 414 6.9 0.0
AEIEPE (n=3) 33.3 0.0 33.3 33.3 66.7 333 0.0 33.3 0.0 0.0
BEE (n=46) 19.6 2.2 6.5 10.9 435 17.4 2.2 45.7 0.0 0.0
BE&ER—7/%— (n=104) 51.9 19.2 125 35.6 23.1 1.0 438 11.5 16.3 1.9
B HA—/%— (n=186) 68.8 12.9 7.0 28.0 17.2 2.2 3.8 13.4 215 2.2
FSvy4 RARZIFI— (n=1) 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0] 100.0 0.0
OVEZIVRARARZ (100 a3y FELD) (n=73) 69.9 27.4 1.4 55 12.3 9.6 9.6 55 17.8 1.4
Z Dt (EFRIZHEFEINENED) (n=5) 0.0 0.0 0.0 0.0 20.0 40.0 0.0 60.0 20.0 0.0
RFEOTULVELY (n=27) 7.4 0.0 3.7 0.0 18.5 3.7 3.7 18.5 18.5 14
FIALALY (n=17) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
A=y BERTE (n=6) 0.0 0.0 0.0 16.7 0.0 333 0.0 33.3 0.0 0.0
7 | HK + iz} 57 | TIE | #15 | &% -
RLU | 24 | ) 7| F0 ) ‘B 12
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24K (n=656) 2.3 6.4 0.6 1.2 0.0 2.1 1.8 0.2 23
— R /NTEIE - IS (B fE) (n=130) 0.0 1.5 0.8 0.0 0.0 5.4 8.5 0.0 1.5
— R /NFEIE - G (Fr—2JF) (n=58) 3.4 5.2 0.0 0.0 0.0 34 0.0 0.0 0.0
AEEME (n=3) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
BEE (n=46) 43 6.5 0.0 0.0 0.0 2.2 2.2 0.0 2.2
BER—/3— (n=104) 1.0 10.6 1.0 1.0 0.0 0.0 0.0 0.0 2.9
BHERX—/3— (n=186) 2.7 10.2 1.1 0.0 0.0 1.1 0.0 0.0 0.5
FSyS REZIFI— (n=1) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
aVEZIVRZXRFZ(100HavFE&T) (n=73) 5.5 5.5 0.0 1.4 0.0 1.4 0.0 0.0 2.7
Z DM (EFRICHEBBINLENED) (n=5) 0.0 0.0 0.0 40.0 0.0 0.0 0.0 0.0 0.0
REOTLVELY (n=27) 3.7 0.0 0.0 0.0 0.0 0.0 0.0 0.0 14.8
FIALALY (n=17) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 5.9 11.8
A B—2yb - BIEIRTE (n=6) 0.0 0.0 0.0 66.7 0.0 16.7 0.0 0.0 0.0
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N & & |5TH %) i) = . mn mn
X < 5 SN Z & T = 7 ke
& 3 mn *— PN n B & (A )
£ Fl F:>) E&E 2z ) Z % T
) T %) AT = %) ) n =3
F 5) TIc T = %
%1k (n=639) 32.1 6.1 4.1 12.4 30.7 19.4 3.6 23.9 6.7 1.7
—RE/INTERE - B () (n=177) 33.3 2.8 2.3 2.8 29.9 395 2.8 36.2 1.1 1.1
— R /NFEIE - EPIIE (F—VJE) (n=47) 36.2 0.0 2.1 43 38.3 29.8 6.4 34.0 10.6 0.0
AEIEPE (h=4) 25.0 0.0 0.0 25.0 25.0 25.0 25.0 0.0 25.0 0.0
BHEE (n=154) 7.1 0.6 5.2 16.9 55.2 17.5 1.9 338 0.0 5.2
BER—/3— (n=51) 54.9 235 19.6 37.3 21.6 2.0 0.0 9.8 21.6 0.0
BRER—/3— (n=71) 69.0 11.3 238 28.2 18.3 28 4.2 11.3 225 0.0
FSv4 RARZIF—> (n=0) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
aAVEZIVAXRZ(100HY 3y FET) (n=51) 68.6 255 0.0 7.8 17.6 39 15.7 2.0 13.7 0.0
Z DMt (EFRIZHEEBINENED) (n=2) 0.0 0.0 0.0 0.0 50.0 50.0 0.0 0.0 0.0 0.0
RFEOTULVELY (n=44) 9.1 0.0 2.3 2.3 11.4 13.6 0.0 15.9 23 2.3
FIALALY (n=35) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
A 3=y BERTE (n=3) 333 0.0 0.0 333 0.0 0.0 0.0 0.0 0.0 0.0
7 | HK + iz} 57 | TIE | #15 | &% -
RLU | 24 | ) 7| F0 ) ‘B 12
b v % * a1 5 A A | BTE AN
Fv ~ -3 il | ) M| E A
2t v ) be3 H = B kg &
N Ah | a4 L | ! v o BE IAY
2 | £ ~ < £ 0 . W IE <
EF z v < S & g | #FE&
T - |k n ~ s A
HE = i % = = 5 | &R
5F g8 ) FIE = D | 1K
< = % - < B | Tl
S E]l 2N & T LY
| H H ) C | %0k
24K (n=639) 28 5.0 0.3 0.9 0.0 25 1.4 0.0 28
— R /NTENE - IS (B E) (n=177) 0.0 1.7 0.0 1.1 0.0 5.6 45 0.0 1.7
—RE/NTEIE - EFE (Fr—J8) (n=47) 0.0 2.1 0.0 0.0 0.0 4.3 0.0 0.0 2.1
AEEME (n=4) 0.0 0.0 25.0 0.0 0.0 0.0 0.0 0.0 0.0
BHEJE (n=154) 5.8 45 0.0 0.6 0.0 1.3 0.6 0.0 1.3
BER—/3— (n=51) 20 11.8 0.0 0.0 0.0 0.0 0.0 0.0 5.9
BRER—/3— (n=71) 4.2 14.1 1.4 0.0 0.0 0.0 0.0 0.0 0.0
FSy45 REZIFI— (n=0) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
aAVEZIVRZXRFZ(100HavFE&T) (n=51) 1.8 5.9 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Z DM (ERICHEBBINENED) (n=2) 0.0 50.0 0.0 50.0 0.0 0.0 0.0 0.0 0.0
REOTLVELY (n=44) 23 2.3 0.0 0.0 0.0 23 0.0 0.0 18.2
FIFALALY (n=35) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 2.9
A B—2yb BERTE (n=3) 0.0 0.0 0.0 66.7 0.0 33.3 0.0 0.0 0.0

75

SCHE[EIZE 111 2 <




- REHLEOM T
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[X] 3-3-23  PEALBIOMEASEET (FnE+)
8 F1E F(n=750)
0.0 10.0 20.0 30.0

27.2%(204)

— /SR IE - RS (A E)

BEIE 19.5%(146)

BERA—/N— 9.3%(70)
|

| 7.1%(53)

4.5%(34)

BER—/N—
aVEZIVRRRN7 (1002 3y TED)
— /SRR -FEME (F—fE) 3.2%(24)
13—k BIERE § 0.7%(5)
KREEFE § 0.4%(3)
K9 AT FI—> | 0.0%(0)

ZO(LERITHEINAAENED) | 0.3%(2)

RESTULVELY 6.1%(46)

FIRALAL 6.7%(50)

= o] & 15.1%(113)

76




Xl 3-3-24 EEADB LW EEI ORI & AR5 (FigE 1)

— /NG E - R ()5) (n=203)

20.0 40.0
]

]

60.0

N

B K JE (n=146)

20.0 40.0

1

60.0 80.0

N

St 29.6%(60) | 26.0%(38)
70.4%(143)
=itk 4.0%(108)
— /5 - FFE ()F) (n=203) B R [E(n=146)
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807 LLE

A4%(7)

6.9%(14)
1
7.9%(16)
|

3 9.4%(19)

E 9.4%(19)

8.9%(18)

i 5.4%(11)

10.8%(22)

10.8%(22)

12.3%(25)

4.3%(29)
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5.5%(8)

9.6%(14)

6.8%(10)
|
9.6%(14)

10.3%(15)

4.8%(7)

9.6%(14)

! 6.8%(10)

15.1%(22)

19.2%(28)




% 3-3-8 Parmpl OB & EAREH (FiE+)

BxR | 28 B |M&Ee| bl * & LY & i) 5]
T A E S B |Tthia| & 1) L =1 & &
ni i3 % (3L #E ) o » . ) )
&R & . e & + El i3 & &
(AR M EE |ZL\Y z y[% Ly E 1214 124
N & & |5TH %) i) = . mn mn
X < 5 SN Z & T = 7 ke
& 3 mn *— PN n B & (A )
£ Fl F:>) E&E 2z ) Z % T
) T %) AT = %) ) n =3
F 5) TIc T = %
&1k (n=637) 31.7 55 3.9 12.2 26.7 17.9 5.3 224 5.8 1.7
— R /INTEIE - P E (B ) (n=204) 377 25 2.0 2.0 23.0 36.3 8.8 32.8 25 1.0
— R /NFEIE - EPIIE (F—VJE) (n=24) 375 0.0 4.2 125 25.0 29.2 8.3 25.0 4.2 0.0
AEIEPE (n=3) 33.3 0.0 0.0 66.7 33.3 333 333 0.0 0.0 0.0
BHEJE (n=146) 15 0.7 55 15.1 55.5 16.4 1.4 34.9 0.0 438
BER—7/3— (n=53) 54.7 18.9 17.0 37.7 20.8 38 0.0 9.4 17.0 0.0
B HER—7/3— (n=70) 68.6 11.4 2.9 30.0 14.3 0.0 43 12.9 229 1.4
FSv4 RARZIF—> (n=0) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
aOVEZIVAXRZ(100HL 3y FET) (n=34) 67.6 26.5 0.0 8.8 23.5 0.0 17.6 0.0 11.8 0.0
Z DMt (EFRIZHEEBINENED) (n=2) 0.0 0.0 0.0 0.0 50.0 50.0 0.0 0.0 0.0 0.0
RFEOTULVELY (n=46) 43 0.0 2.2 2.2 6.5 10.9 2.2 10.9 22 2.2
FIALALY (n=50) 2.0 20 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
A 3=y - BERTE (n=5) 0.0 0.0 0.0 20.0 40.0 0.0 20.0 0.0 20.0 0.0
7 | HK + iz} 57 | TIE | #15 | &% -
RLU | 24 | ) 7| F0 ) ‘B 12
b v % * a1 5 A A | BTE AN
Fv ~ -3 il | ) M| E A
2t v ) be3 H = B kg &
NAH | 4 L | | o EE IAY
2 | £ ~ < £ 0 . W IE <
EF z v < S & g | #FE&
T - © ~ n —~ M h | &
HE = i % = = 5 | &R
5F g8 ) FIE = D | hik
< = % - < B | Tl
S E]l 2N & T LY
| H H ) C | %0k
24K (n=637) 25 4.4 0.5 0.8 0.0 24 4.2 0.0 38
— R /NTEIE - IS (B ) (n=204) 0.0 1.0 1.0 1.0 0.0 44 12.7 0.0 2.9
—RE/NTEIE - EFE (Fr—2J8) (n=24) 4.2 4.2 0.0 0.0 0.0 8.3 0.0 0.0 4.2
AEEME (n=3) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
BHEJE (n=146) 4.1 2.7 0.0 0.0 0.0 1.4 0.7 0.0 1.4
BER—/3— (n=53) 1.9 9.4 0.0 0.0 0.0 0.0 0.0 0.0 38
BHER—/3— (n=70) 43 15.7 1.4 0.0 0.0 0.0 0.0 0.0 0.0
FSy45 REZIFI— (n=0) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
aAVEZIVRZXRFZ(100HavFE&T) (n=34) 11.8 8.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Z DM (ERICHEBBINENED) (n=2) 0.0 50.0 0.0 50.0 0.0 0.0 0.0 0.0 0.0
RFEOTLVELY (n=46) 22 0.0 0.0 0.0 0.0 2.2 0.0 0.0 17.4
FIFALALY (n=50) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 8.0
A A=y BIEIRTE (n=5) 0.0 20.0 0.0 40.0 0.0 20.0 0.0 0.0 20.0
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BER—IN—

8.9%(67)

5.5%(41)

BEE

Ao B—Fyh-BIERE
—MR/NFEE - B E (F—U)E) 2.8%(21)
AVEZIVRRNT (100M2avT&L) 1.3%(10)
FSVTRANTFI—2 1§ 0.5%(4)
ABEME | 0.4%(3)

ZOM(ERITHFEINENED) 2.9%(22)

4.1%(31)
|

7.9%(59)

REOTLVELY

FALGN

IR 14.4%(108)
|
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3-3-26  WEADZWEERHOMER & AERB (5 - E)

— i /SR TE - BP9 RE (f8)E) (n=110) B R—/8—(n=178)
0.0 20.0 40.0 60.0 80.0 0.0 20.0 40.0 60.0 80.0

| | | ! | I

N

Sk 30.9%(34) 41.6%(74)
it 69.1%(76) 58.4%(104)
\ \ \
— 8% /NSEIE - B S (fANE) (n=110) B 5 R—/8—(n=178)
0.0 10.0 20.0 30.0 0.0 100 20.0 30.0

I I I
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20~247%% B 0.9%(1)

25~297% 1.8%(2) 3 1.7%(3)

30~345% 10.7%(19)

35~395%

4.5%(5)
2.7%(3) 9.6%(17)

40~447% A%(7) 14.0%(25)
|

45~497% % 10.9%(12) 12.4%(22)

50~54%% i 9.0%(16)
55~597%

60~64%%

7.3%(8)

11.8%(13) 9.6%(17)

|

% 9.1%(10) 7.9%(14)
|

65~697% i 7.9%(14)

10.9%(12)
70~795%
80 L E

20.9%(23) £ 12.9%(23)
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12.7%(14)
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7< 3-3-9  PAmBIORENE S & AR E (8 - )
BxR | 28 B |M&Ee| bl * & LY & i) 5]
T A E S B |Tthia| & 1) Ly =1 & &
ni i3 % (3L #E ) o » . ) )
&R & . e & + El i3 & &
(AR M EE |ZL\Y z y[% Ly E 1214 124
N & & |5TH %) i) = . mn mn
X < 5 SN Z & T = 7 ke
& 3 mn *— PN n B & (A )
£ Fl F:>) E&E 2z ) Z % T
) T %) AT = %) ) n =3
F 5) TIc T = %
21K (h=642) 35.4 15 44 15.9 18.2 6.9 5.0 19.0 9.8 3.6
— R /INFERE - B (B E) (n=111) 37.8 0.9 0.9 0.9 18.9 1741 11.7 35.1 1.8 2.7
— R /INFEIE - EPIIE (F—VJE) (n=21) 38.1 0.0 95 14.3 28.6 14.3 438 19.0 14.3 0.0
AEIEPE (n=3) 0.0 0.0 0.0 33.3 66.7 66.7 0.0 0.0 0.0 0.0
BEJE (n=67) 15 1.5 6.0 10.4 40.3 13.4 1.5 448 0.0 45
BE&R—7/3— (n=95) 495 20.0 11.6 40.0 23.2 2.1 2.1 10.5 14.7 5.3
BHEA—/3— (n=178) 62.9 14.0 5.1 27.0 15.2 2.2 6.2 10.1 16.9 5.6
FSvy4 RARZIFI— (n=4) 0.0 25.0 0.0 0.0 0.0 0.0 0.0 0.0 75.0 0.0
aAVEZIVAXRZ(100HL 3y FET) (n=10) 70.0 10.0 0.0 10.0 10.0 0.0 10.0 0.0 30.0 0.0
ZDfh (EFRIZHEFEINENDED) (n=22) 0.0 0.0 0.0 0.0 9.1 0.0 45 13.6 9.1 0.0
RFEOTULVELY (n=31) 12.9 0.0 3.2 6.5 3.2 6.5 0.0 6.5 0.0 0.0
FIALALY (n=59) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
A 3=y BIERRTE (n=41) 4.9 0.0 0.0 24 19.5 7.3 4.9 39.0 14.6 4.9
7 | HK + iz} 57 | TIE | #15 | &% -
RLU | 24 | ) 7| F0 ) ‘B 12
b v % * a1 5 A A | BTE AN
Fv ~ -3 il | ) M| E A
2t v ) be3 H = B kg &
N Ah | a4 L | ! v o BE IAY
2 | £ ~ < £ 0 . W IE <
EF z v < S & g | #FE&
T - |k n ~ s A
HE = i % = = 5 | &R
5F g8 ) FIE = D | 1K
< = % - < B | Tl
S E]l 2N & T LY
| H H ) C | %0k
24K (n=642) 1.6 6.4 0.3 4.8 0.0 44 3.9 0.2 34
— R /NTEIE - IS (B E) (n=111) 0.0 0.9 0.0 3.6 0.0 18.9 16.2 0.0 0.9
—RE/NTEIE - EF G (Fr—208) (n=21) 0.0 0.0 4.8 4.8 0.0 9.5 9.5 0.0 0.0
AEEME (n=3) 0.0 33.3 0.0 0.0 0.0 66.7 333 0.0 0.0
BHEJE (n=67) 1.5 45 0.0 0.0 0.0 3.0 3.0 0.0 3.0
BER—/3— (n=95) 1.1 10.5 0.0 1.1 0.0 0.0 0.0 0.0 3.2
BHERX—/3— (n=178) 3.4 11.8 0.0 0.0 0.0 0.0 0.6 0.0 0.6
FSyS REZIFI— (n=4) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
aVEZIVRZXRFZ(100HavFE&T) (n=10) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
ZOfh (EFRICHEBBINENED) (n=22) 0.0 9.1 0.0 455 0.0 0.0 0.0 0.0 45
RFEOTLVELY (n=31) 0.0 0.0 0.0 0.0 0.0 0.0 3.2 0.0 25.8
FIFALALY (n=59) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.7 6.8
A A=y BIEIRFE (n=41) 4.9 7.3 24 36.6 0.0 24 0.0 0.0 4.9
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3-3-27 PEALBIOEAIGE (3 - 77 4H)

B A3 - 5 1% (n=750)

0.0 10.0 20.0 30.0

1
26.0%(195)

BERA—/N—

WER—/N— 13.3%(100)

AVEZIVARRM? (100HL 3T ED) 13.2%(99)

BEIE 9.5%(71)

—fR/NSEIE - B IE (fEE) 6.1%(46)

—MR/NFEE - B E (F—U)E) 5.7%(43)
Aoa—FyhBIERE | 03%(@2)
REHME | 0.0%(0)

FIVT RN F—2 | 0.0%(0)

ZOM(ERITHEINENED) | 0.1%(1)

RESTULVLY 4.7%(35)
|
FIALAL 7.2%(54)
EEIRAS

13.9%(104)
|
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#3-3-10 pasBIOBEASE S & BARH (3 - 5 4%5)

BER | 28 B |M&Ee| bl * & LY & i) 5]
T A E S B |Tthia| & 1) L =1 & &
ni i3 % (3L #E ) o » . ) )
&R & . e & + El i3 & &
(AR I EE |ZL\Y z L Ly E 1214 124
N & & |5TH %) i) = . mn mn
X < 5 SN Z & T = 7 ke
& 3 mn *— PN n B & (A )
£ Fl F:>) E&E 2z ) Z % T
) T %) & Fr = %) ) n =3
F 5) TIc T = %
&1k (n=646) 48.0 12.7 4.2 175 21.4 6.0 6.2 16.9 8.8 2.0
— R /NTEIE - S (BE) (n=46) 413 6.5 43 2.2 19.6 26.1 6.5 413 8.7 0.0
— R /NFEIE - FPIIE (F—2JE) (n=43) 60.5 16.3 47 7.0 20.9 2.3 7.0 14.0 16.3 0.0
AEIEPE (h=0) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
BEJE (h=71) 11.3 4.2 5.6 239 54.9 12.7 4.2 45.1 0.0 8.5
W& ZX—7%— (n=100) 55.0 21.0 10.0 36.0 26.0 4.0 9.0 13.0 10.0 1.0
B HA—/%— (n=195) 64.6 12.3 4.1 24.1 17.4 36 6.2 15.4 14.4 2.1
FSv4 RARZIF—> (n=0) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
OVEZIVRARARZ (100 a3y FED) (n=99) 69.7 232 0.0 8.1 16.2 5.1 9.1 4.0 7.1 1.0
Z DMt (EFRIZHEEINENED) (h=1) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
RFEOTULVELY (n=35) 17.1 2.9 2.9 2.9 11.4 2.9 2.9 14.3 29 29
FIALALY (n=54) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
A B3—2yb-BERTE (n=2) 50.0 0.0 0.0 0.0 50.0 0.0 0.0 0.0 0.0 0.0
7 | HK + i3] 57 | TIE | #15 | &% -
RLU | 24 | ) 7| F0 ) ‘B 12
Fo v % * a1 5 A A | BTE AN
Fv ~ -3 il | ) M| E A
2t v ) be3 H = B kg &
N Ah | a4 L | ! v o BE IAY
2 | £ ~ < £ 0 . W IE <
EF 2| v < z o R
T - |k n ~ s A
HE = i % = = 5 | &R
5F g8 ) FIE = D | hik
< = % - < B | Tl
S E]l 2N & T LY
| H H ) C | %0k
24K (n=646) 28 5.3 0.3 0.9 0.0 0.9 1.1 0.0 36
— A% /INTEIE - S (B [E) (n=46) 0.0 0.0 0.0 0.0 0.0 4.3 13.0 0.0 2.2
—RE/NTEIE - EF G (Fr—2J8) (n=43) 2.3 0.0 0.0 0.0 0.0 2.3 0.0 0.0 4.7
AEEME (n=0) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
BEE (n=71) 28 4.2 0.0 1.4 0.0 2.8 1.4 0.0 0.0
&R —/3— (n=100) 3.0 5.0 0.0 1.0 0.0 0.0 0.0 0.0 3.0
BHERX—/3— (n=195) 3.6 9.7 1.0 1.5 0.0 0.0 0.0 0.0 1.5
FSy45 REZIFI— (n=0) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
aVEZIVRZXRZ(100HavFE&T) (n=99) 5.1 741 0.0 1.0 0.0 1.0 0.0 0.0 1.0
Z DM (ERICHEBBINENED) (h=1) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
RFEOTLVELY (n=35) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 20.0
FIALALY (n=54) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 9.3
A A=y BIERTE (n=2) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 50.0
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7% 3-3-11 PAaLBIOIENEEE & EAB R (BEE - 8eh)
BxR | 28 B |M&Ee| bl * & LY & i) 5]
T A E S B |Tthia| & 1) Ly =1 & &
ni i3 % (3L #E ) o » . ) )
&R & . e & + El i3 & &
(AR M EE |ZL\Y z y[% Ly E 124 124
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FSYYIRMFIFI— (n=0) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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BER—/3— (n=31) 0.0 3.2 3.2 0.0 0.0 0.0 0.0 0.0 6.5
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24K (n=580) 9.5 3.1 0.7 7.8 36.9 1.4 0.2 1.0 7.9 3.1
—RB/INTEIE - P E (EE) (n=41) 29.3 4.9 24 4.9 63.4 4.9 0.0 24 0.0 0.0
— R /NFEIE - BEFIE (F—208) (n=75) 26.7 4.0 1.3 12.0 62.7 1.3 0.0 2.1 6.7 0.0
REIEME (n=96) 10.4 5.2 2.1 24.0 71.9 4.2 0.0 2.1 8.3 1.0
BHEE (n=10) 20.0 0.0 0.0 20.0 60.0 10.0 0.0 0.0 0.0 10.0
BER—18— (n=5) 40.0 20.0 0.0 0.0 40.0 0.0 0.0 0.0 0.0 0.0
BRR—/— (h=1) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
FSYIRMZIFI— (n=1) 100.0 0.0 0.0 0.0 0.0 0.0 100.0 0.0 0.0 100.0
aVEZIVRZRRZ (100 avFE&T) (n=2) 50.0 50.0 0.0 0.0 50.0 0.0 0.0 0.0 0.0 0.0
Z DM (EFRICHEINLELED) (n=8) 0.0 0.0 0.0 0.0 25.0 0.0 0.0 0.0 12.5 0.0
RES>TULELY (n=55) 55 1.8 0.0 36 55 0.0 0.0 1.8 36 3.6
FIFALALY (n=151) 0.0 0.0 0.0 0.0 20 0.0 0.0 0.0 0.7 0.0
A B—2yb BIERRFE (n=135) 3.0 3.7 0.0 5.2 40.7 0.0 0.0 0.0 21.5 9.6
£ | R + i) 57 | TIE | #15 | && -
RL 54 [ ah 2 =30 ()] B 1z
Fo v % = 2 | 5 A A| 2B LAY
Fv ~ =3 (il | () A - A
B b+ v (1)) = H = | k&R &
N A | 4 L | Fq | BE LA
& | E ~ T E p 3l . MK <
EF z v < e i g | #E
T - 1 ~ h - m M| &
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[ N H 58 L | 2
24K (n=580) 47 4.8 0.2 9.7 0.5 3.1 0.3 0.2 7.8
—RB/INTEIE - B E (EE) (n=41) 4.9 4.9 0.0 0.0 24 9.8 49 0.0 24
— R /NFEIE - BEFAIE (Fr—208) (n=75) 1.3 8.0 0.0 0.0 0.0 6.7 0.0 0.0 6.7
REIEME (n=96) 8.3 11.5 0.0 1.0 1.0 8.3 0.0 1.0 3.1
BEE (n=10) 0.0 10.0 0.0 0.0 0.0 0.0 0.0 0.0 10.0
BEX—/8— (n=5) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
B RR—/— (h=1) 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
FSYIRMPIFI— (n=1) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
OVEZIVRARFZ (100 ayFED) (n=2) 0.0 50.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Z DM (EFRICHTESNLELED) (n=8) 0.0 0.0 0.0 12.5 0.0 0.0 0.0 0.0 12.5
REO>TULELY (n=55) 0.0 0.0 0.0 0.0 0.0 1.8 0.0 0.0 23.6
FIFALALY (n=151) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 10.6
A A—3yb BIEIRFE (n=135) 11.1 5.2 0.7 40.0 0.7 0.0 0.0 0.0 3.7
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24k (n=531) 6.8 1.9 1.5 7.7 29.9 1.9 0.0 1.5 9.4 2.4
—RB/INTEIE - P E (EE) (n=16) 31.3 6.3 0.0 0.0 438 6.3 0.0 0.0 0.0 0.0
— R /NTEIE - BEFAIE (F—208) (n=48) 20.8 4.2 2.1 14.6 64.6 6.3 0.0 2.1 22.9 8.3
REIEM[E (n=107) 15.0 37 4.7 224 62.6 28 0.0 28 16.8 0.9
BEJE (n=30) 10.0 0.0 6.7 13.3 76.7 6.7 0.0 6.7 3.3 10.0
e RX—/8— (n=5) 20.0 20.0 0.0 20.0 40.0 0.0 0.0 20.0 40.0 20.0
BREAR—/3— (n=0) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
FSYJRMFIFI— (n=0) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
aVEZIVRZRRZ (100 ayFETD) (n=1) 0.0 0.0 0.0| 100.0 0.0| 100.0 0.0 0.0 0.0 0.0
Z DMt (EFRICHEINLEVED) (n=T7) 0.0 0.0 0.0 0.0 14.3 0.0 0.0 0.0 0.0 0.0
REOTLVELY (n=35) 0.0 2.9 0.0 29 5.7 0.0 0.0 0.0 29 2.9
FIFALALY (n=229) 0.0 0.0 0.0 0.0 0.4 0.0 0.0 0.4 0.9 0.0
A A=y BERTE (n=53) 1.9 1.9 0.0 5.7 47.2 0.0 0.0 0.0 28.3 5.7
£ | R + 2] 57 | TIE | #15 | && -
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24k (n=531) 24 5.3 0.2 4.1 0.8 3.0 0.6 0.4 8.1
—RR/INTEIE - B E (EE) (n=16) 0.0 6.3 0.0 6.3 6.3 31.3 125 0.0 125
— R /NFEIE - BEFAIE (Fr—208) (n=48) 0.0 16.7 0.0 2.1 2.1 4.2 2.1 0.0 6.3
REIEM[E (n=107) 5.6 12.1 0.9 0.9 1.9 5.6 0.0 1.9 1.9
BEJE (n=30) 6.7 3.3 0.0 0.0 0.0 6.7 0.0 0.0 0.0
BEX—/8— (n=5) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
BRERA—/3— (n=0) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
FSYYIRMFIFI— (n=0) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
IVEZIVRARFZ (100 ayFE&D) (n=1) 0.0 100.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Z DM (EFRICHEINLEWLED) (n=7) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 429
REOTLVELY (n=35) 0.0 0.0 0.0 0.0 0.0 2.9 0.0 0.0 28.6
FIFALALY (n=229) 0.4 0.0 0.0 0.0 0.0 0.0 0.0 0.0 10.0
A A=y BIERTE (n=53) 15 15 0.0 35.8 0.0 0.0 0.0 0.0 0.0
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24K (n=638) 11.1 3.8 3.8 14.1 56.4 1.3 0.2 1.7 20.4 9.2
—RB/INTEIE - P E (EE) (n=27) 29.6 0.0 0.0 3.7 11.1 3.7 0.0 3.7 3.7 0.0
—Hg/NFEIE - BEFIE (Fr—2J8) (n=105) 13.3 3.8 1.0 19.0 61.9 1.9 0.0 1.0 19.0 9.5
KREIEM[E (n=399) 10.3 3.8 5.8 16.0 66.2 1.3 0.0 23 20.8 8.5
BEJE (n=3) 0.0 0.0 0.0 33.3 66.7 0.0 0.0 0.0 333 0.0
BER—18— (n=8) 25.0 125 0.0 125 25.0 0.0 0.0 0.0 125 0.0
BREAR—/3— (n=0) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
FSYIRMPIFI— (n=2) 100.0 0.0 0.0 0.0 50.0 0.0 50.0 0.0 0.0 0.0
aVEZIVRZRRZ (100 ayFETD) (n=1) 100.0[ 100.0 0.0 0.0 0.0 0.0 0.0 0.0| 100.0 0.0
Z DMt (EFRICHTEINLELED) (n=5) 40.0 0.0 0.0 0.0 20.0 0.0 0.0 0.0 20.0 0.0
RES>TULELY (n=26) 0.0 3.8 0.0 0.0 15.4 0.0 0.0 0.0 115 15.4
FIFALEL (n=17) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
A A=y BIERTE (n=45) 0.0 4.4 0.0 6.7 40.0 0.0 0.0 0.0 422 244
£ | R + i) 57 | TIE | #15 | && -
RL 54 [ ah 2 =30 ()] B 1z
Fo v % = 2 | 5 A A| 2B LAY
Fv ~ =3 (il | () A - A
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& | E ~ T E %0 . MK <
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< Z| % - kS g | Tl
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[ N H 58 L | 51
24K (n=638) 6.0 14.1 1.1 6.7 6.0 10.0 1.6 0.2 25
—RB/INTEIE - B E (EE) (n=27) 0.0 0.0 0.0 1.4 25.9 259 29.6 0.0 3.7
—Hg/NFEIE - BEFIE (Fr—2J8) (n=105) 48 16.2 1.0 1.9 6.7 11.4 1.9 0.0 2.9
REIEP[E (n=399) 6.0 17.5 1.3 45 55 11.0 0.0 0.3 05
BEJE (n=3) 0.0 0.0 0.0 0.0 0.0 333 0.0 0.0 0.0
BEX—/8— (n=8) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
BRERA—/3— (n=0) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
FSYIRMPIFI— (n=2) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
IVEZIVRARFZ (100 ayFE&D) (n=1) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Z DMt (EFRICHEEINLELED) (n=5) 20.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
REO>TULELY (n=26) 0.0 38 0.0 0.0 3.8 0.0 0.0 0.0 34.6
FIFALEL (n=17) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 5.9
A A=y BIERRTE (n=45) 17.8 4.4 0.0 46.7 2.2 0.0 0.0 0.0 0.0
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—RB/INTEIE - B E (EE) (n=22) 13.6 0.0 0.0 18.2 213 9.1 0.0 22.7 13.6 9.1
— R /NFEIE - EFIE (Fr—208) (n=72) 19.4 5.6 5.6 15.3 58.3 6.9 0.0 2.8 15.3 8.3
REIEM[E (n=207) 12.6 4.8 1.1 16.4 66.7 34 0.0 1.4 145 6.3
BEJE (n=40) 25 0.0 0.0 10.0 67.5 5.0 0.0 10.0 0.0 25
BER—18— (n=9) 11.1 22.2 11.1 22.2 33.3 0.0 0.0 0.0 33.3 11.1
BREAR—/3— (n=0) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
FSYIRMZIFI— (n=1) 0.0 0.0 0.0 0.0 100.0 0.0 0.0 0.0/ 100.0] 100.0
IVEZIVRARZ (100 ayFE&D) (n=0) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Z DM (EFRICHEINLELED) (n=4) 0.0 0.0 0.0 0.0 25.0 0.0 0.0 0.0 25.0 0.0
RES>TULELY (n=53) 5.7 0.0 0.0 0.0 5.7 0.0 0.0 0.0 5.7 5.7
FIFALALY (n=129) 0.0 0.0 0.0 0.8 0.0 0.0 0.0 0.0 0.8 0.8
A B—Fy k- BERTE (n=39) 0.0 0.0 0.0 12.8 28.2 26 0.0 0.0 35.9 231
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24K (n=576) 3.6 5.2 0.7 35 1.9 6.8 0.3 0.3 8.0
—RB/INTEIE - B E (EE) (n=22) 0.0 45 0.0 0.0 0.0 9.1 45 0.0 45
— R /NFEIE - BEFIE (Fr—208) (n=72) 0.0 5.6 1.4 0.0 5.6 12.5 1.4 0.0 5.6
REIEP[E (n=207) 6.3 1.1 1.0 1.0 2.9 11.1 0.0 1.0 1.0
BEE (n=40) 75 10.0 25 0.0 25 10.0 0.0 0.0 5.0
BER—78— (n=9) 0.0 22.2 0.0 0.0 0.0 0.0 0.0 0.0 11.1
BRERA—/3— (n=0) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
FSYIRMPIFI— (n=1) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
OVEZIVRARFZ (100 ayFE&D) (n=0) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Z DM (EFRICHEINLELED) (n=4) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
REO>TULVELY (n=53) 0.0 0.0 0.0 0.0 0.0 1.9 0.0 0.0 434
FIFALALY (n=129) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 9.3
A A=y BIERTE (n=39) 12.8 7.1 0.0 46.2 0.0 0.0 0.0 0.0 26
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— R /NFEIE - BEFIE (Fr—208) (n=69) 30.4 7.2 5.8 7.2 42.0 8.7 0.0 4.3 13.0 5.8
REIHEME (n=110) 11.8 45 55 14.5 55.5 0.9 0.0 3.6 16.4 10.9
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B RR—/8— (h=0) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
FSYJRMFIFI— (n=0) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
IVEZIVRARZ (100 ayFE&D) (n=0) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Z DM (EFRICHEINLELED) (n=4) 0.0 0.0 0.0 0.0 50.0 0.0 0.0 0.0 25.0 0.0
RES>TULELY (n=47) 43 0.0 0.0 0.0 43 0.0 0.0 0.0 6.4 6.4
FIFALALY (n=175) 0.6 0.0 0.0 0.6 0.6 0.0 0.0 0.0 1.1 0.0
A B—3 vk BIEIRFE (n=13) 0.0 0.0 0.0 0.0 15.4 0.0 0.0 0.0 30.8 30.8
£ | R + i) 57 | TIE | #15 | && -
RL 54 [ ah 2 =30 ()] B 1z
Fo v % = 2 | 5 A A| 2B LAY
Fv ~ =3 (il | () A - A
B b+ v (1)) = H = | k&R &
N A | 4 L | Fq | BE LA
& | E ~ T E p 3l . MK <
EF z v < e & g | #E
T - 1 ~ h - m M| &
HE = n % 7% 2z 5 | &R
5F 8 ) H = D | R
< Z| % - kS g | Tl
* El paN g A (AR
[ N H 58 L | 2
24K (n=547) 0.9 20 0.2 2.2 10.2 13.2 3.8 0.2 7.9
—RB/INTEIE - B E (EE) (n=119) 0.0 0.0 0.8 0.8 244 37.0 16.0 0.0 25
— R /NFEIE - BEFIE (Fr—208) (n=69) 0.0 2.9 0.0 0.0 15.9 17.4 0.0 0.0 7.2
REIEM[E (n=110) 3.6 73 0.0 2.7 13.6 11.8 1.8 0.9 2.7
BEJE (n=2) 0.0 0.0 0.0 50.0 0.0 50.0 0.0 0.0 0.0
BEX—/8— (n=8) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
B RR—/— (h=0) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
FSYYIRMFIFI— (n=0) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
OVEZIVRARFZ (100 ayFE&D) (n=0) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Z DM (EFRICHEINLELED) (n=4) 0.0 0.0 0.0 0.0 25.0 0.0 0.0 0.0 0.0
RES>TULELY (n=47) 0.0 0.0 0.0 0.0 0.0 43 0.0 0.0 34.0
FIFALALY (n=175) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 8.6
A B—3 vk BIEIRFE (n=13) 7.7 1.7 0.0 53.8 0.0 0.0 0.0 0.0 7.7
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< BRIRSE R AR L - IS A

FTHEEKT - FEME] 25882 CTE O MoV T,

[RIUREPJE ] 28 28.5% & I b2\,

3-3-52 PEMBIOEEAIEE (HEEKT - FHZ=Mm

B HIEXT - E=mA%E(n=750)

0.0 10.0

REFEME

—#R/NTESE - B E (Fx—fE)

—i&/NSEE - FFE (B FE) 4.7%(35)

|
4.3%(32)

A 3—2 k- BIERSE 2.8%(21)

AVEZIVRARART (100 3y TEL) 0.5%(4)
BHEE | 0.4%03)

RSwTRRTFI— ] 0.4%(3)

BRRA—/8— | 0.0%(0)

ZM(EREIZHESNENLD)

RESTULVLY
FALEN

RS
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8.4%(63)

6.1%(46)

28.5%(214)

| 20.9%(157)

22.1%(166)
|




7< 3-3-28  PEARBIOEENEE & BEABH (HIEXR T - FH2508)
BR | 28 B |(HEe| bm| 7+ £ LS i) i3]
4 * H O |Thia| b ) (A =1 & &
nio i3 5 |HL%& ) < o) . ) )
&K & . ET® & + El i3 & &
[AYAN n B |ZLY z y1% (A E 124 133
. K W |5 TH %) 2] = . n n
% < 5 ) Z & T 7 7 te
bt} & n F— n n B & (A 3
x # ) L& 2 ) Z i3 <
) kS % O Fr =) %) %) n =
F ) TIz T = %
24K (n=584) 12.2 2.7 7.7 11.3 35.3 1.2 1.4 1.4 12.0 3.3
—RB/INTEIE - P E (EE) (n=35) 57.1 29 2.9 5.7 20.0 2.9 2.9 8.6 29 0.0
— R /NFEIE - BEFIE (Fr—208) (n=63) 14.3 3.2 11.1 20.6 46.0 1.6 0.0 0.0 23.8 0.0
REIEME (n=214) 13.1 37 15.4 20.1 64.5 1.9 2.8 1.9 17.3 6.5
BEJE (n=3) 0.0 0.0 0.0 0.0 66.7 0.0 0.0 0.0 0.0 33.3
BER—r3— (n=32) 12.5 15.6 125 15.6 43.8 0.0 0.0 0.0 125 6.3
B RR—/8— (h=0) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
FSYIRMZIFI— (n=3) 66.7 0.0 0.0 0.0 33.3 0.0 0.0 0.0 33.3 0.0
aVEZIVRZRRZ (100 avFET) (n=4) 75.0 0.0 0.0 0.0 50.0 0.0 25.0 0.0 0.0 0.0
Z DM (EFRICHESNLELED) (n=6) 16.7 0.0 0.0 0.0 33.3 0.0 0.0 0.0 16.7 0.0
RES>TULELY (n=46) 6.5 0.0 0.0 0.0 2.2 2.2 0.0 0.0 22 0.0
FIFALALY (n=157) 0.6 0.0 0.0 1.3 0.6 0.0 0.0 0.6 1.3 0.0
A B—3 vk BIEIRFE (n=21) 0.0 0.0 0.0 48 42.9 0.0 0.0 0.0 38.1 9.5
£ | R + i) 57 | TIE | #15 | && -
RL 54 [ ah 2 =30 ()] B 1z
Fo v % = 2 | 5 A A| 2B LAY
Fv ~ =3 (il | () A - A
B b+ v (1)) = H = | k&R &
N A | 4 L | Fq | BE LA
& | E ~ T E p 3l . MK <
EF z v < e i g | #E
T - 1 ~ h - m M| &
HE = n % 7% 2z 5 | &R
5F 8 ) H = D | R
< Z| % - kS g | Tl
S 5| n & vl AR
[ N H 58 L | 2
24K (n=584) 1.9 2.7 0.2 4.1 0.7 7.0 0.7 0.2 7.5
—RB/INTEIE - P E (EE) (n=35) 0.0 0.0 0.0 5.7 2.9 14.3 8.6 0.0 0.0
— R /NFEIE - BEFIE (Fr—208) (n=63) 1.6 4.8 0.0 3.2 0.0 15.9 1.6 0.0 6.3
REIEM[E (n=214) 4.2 5.6 0.5 3.7 1.4 11.2 0.0 0.5 1.4
BEJE (n=3) 0.0 0.0 0.0 0.0 0.0 333 0.0 0.0 0.0
BER—/3— (n=32) 0.0 3.1 0.0 0.0 0.0 3.1 0.0 0.0 12.5
B RR—/— (h=0) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
FSYIRMPIFI— (n=3) 0.0 0.0 0.0 33.3 0.0 0.0 0.0 0.0 0.0
OVEZIVRARZ (100 ayFED) (n=4) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Z DMt (EFRICHEEINLELED) (n=6) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
REO>TULVELY (n=46) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 457
FIFALALY (n=157) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 5.7
A B—3 vk BIEIRFE (n=21) 48 0.0 0.0 52.4 0.0 0.0 0.0 0.0 95
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